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7 Vg & AFe] A2t 40°% < 457 A
45 ~ 50" 14
50 ~ 557 6
559~ 60"Y 6
60777 ~ 6577 4
3 40
@ 37.5kg @ 42.5kg (3))47.5kg

@ 52.5kg ® 57.5kg

A=40-(2+14+64+6+4)=8,
45kg O] 50kg BTl AlF-o] AlFg-S 47.5kg o]t
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@® 100° @ 120° ® 130° @ 140° ) 160°

Lx + Ly = 360° — (90° + 110°) = 160°
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@ 1x=60° 1y = 150° @ 1x=70° 1y = 130°

® 1x =70° sy =140°

/x =180°—120° = 60°
Ly = 180° — 40° = 140°
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@ AC+CE=DC+CB © /ACE = /DCB
© ACQB = AEQB ® ¢APD =60°
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AACD, ACBE 7} A4z go|m 2

AC =DC, CE = CB °J|A

AC+CE=DC+CB (@)

/ACE = /ACD + /DCE = 60° + /DCE ©]1, /DCB =
(DCE + /ECB = /DCE + 60° o] 22

/ACE = /DCB (©) °|t}.

(APD = /PAB + /ABP = 60° (@) °]2&

AACE = ADCB (SAS &%) (@) ©] "t}




